SHIMANO

'98 YA >/NJ— 6000H

g 31— K 5—SC69 M062

WERIRH/SEMAE 34,500
28
2
43
£
20 3 b
19
18 AR 2
17 :
15
11 Bl
8 14 40
7 S A (%
4 Z A
3 N
13
101 5 5
1 Y @0 *
5
(34) \§

FEXFEBSBHE—WAT I TERLET

aw31-~01353

s Jn /v
28 2 va: I RE 2 sse IR  see g

1 FSovv i@ 1,000 33 | R=EmftrhLBEER 100 65 | EEH—F 3,000
3 27— ILER 50 U | N=E{dr L=k 100 66 | FEH—FEAZEFRLF(B) 200
4 | EybIHU2—(M2XE) 100 35 | R=ILE{Fr ALBERRN b 50 67 | FEH— FEEHRL b 200
5 | AT=IWRFULTHAK 500 36 | x=)7—=4i8 1,000 68 | BikFr w7 (A) 200
6 | R—IAPY 4 (39X#17X5) 700 37 | El#EH 1,500 69 | Bik*F+ v TEERIN b 200
7 2T7—MRTF YT~ 100 38 | BFUNRHA E(A) 100 70 | AvFILE 9,000
3 | 278y 100 30 | R UL =R 100 1| ZFABHRIL b (R) 100
9 UF—F—BEFIN b+ 50 40 | ATFUNRHAF(B) 100 72 | H—FERFKIL 200
10 | UF—4— 100 4 [ O=-5—95yFEZKL 50 73 | ZOZFVELARYIRENL b 50
11 ElRiRE 7 HhS5— 100 42 A—-5—23wFhN—Kl 50 4 DOZFPERYIN 100
12 | EEgty b 100 43 | O—-5—-25v74 1,000 75| FOAFVFELNS— 100
13 | 27=I# 1,000 4 | MYNRTFUTRESR 100 B | 2OFVEVARES 50
14 | P=LALBESRIL B 50 45 | EZaxvFy 1,000 77| yOxFERES 300
15 FP=LO-5—AFPULTHS— 100 46 EZd A FPRAPY 5 (1) ($TX#1X3) 600 8 | BET 1,000
16 | P=—LO-5—RA7 T (#4X$8X3) | 600 47 | 2Uova YLy 300 7% | 'Y hFXHUI—(M2X5NL) 100
17 | P=bLO=-5=Tva 100 48 | RTINRHAEF(B) 100 80 | MBFEBRRIL 50
18 | P=ALO=5 500 49 | 2wHI 100 8l | ZOZFVRIFL IR (X) 50
19 | P=AO—5—2R—H— 50 50 | A UNRHA F(A) 100 82 | 20ZFFEBTIHRL () 50
20 | P—LO-5—ES& 100 51 | Abwi—hh 400 8 | JOZFTRFTINS— 100
21 | P—ARFHAE(A) 100 52 | A byN—hLEERI b 50 84 | 2OZFVT8AN/I— 100
22 | P=LIRHASLE(A)HS5— 100 54 | 2OZFPTvia (W) 100 85 | ZJOZFTRAN——b 100
23 | P—LhbLING 100 55 | 2O0ZFFRFY 200 8 | WETFHAE(A) 500
24 | P—LNRHAEF(B) 100 56 | 2O0ZF Y 500 87 | BT HA F(B) 500
25 | P=LALINFNIN— 300 57 | 2OZFY T w1 () 100 88 | Zbwn—vvs 500
2% | P—Lhh 400 58 | ZOZFVTEHS— 100 88 | O & (#4X#6) 50
27 | P=LEBKLE 50 59 | VAZ—FVRANTFU T (#8X#14X4) | 600 91 | BikF+w T (B) 200
28 | P=LhbsRh—5—ERATHIL 8 200 60 | $AY—FY 1,500 101 | 27—)48 9,000
29 | P=LAL/SRAN—f=ERfirRL b8 200 61 | {EEHTEES (P8X#11) 50 102 | &% 5,000
30 | P=LAhLNRHN=H—F 300 62 | 2% 1,000
31 | AU L/N— 100 63 | 2HISLY 100
32 | A UL —ER 100 64 | PN~ 200 141 | U= T (S m &) 200

T~
~
(0]
s

— L

ety

R -t e

R

=3

1l e

=

7z

—

[mumt] |

[T

j

L T e B B R



